k=3 Vbat= 1) E==ar)
20124 48 FR KRV T4 > 7 &7 74 ZNEFIRR %R
20124 4R HEx (V2T 4075+ -8 2FHE
20124 48 K [75A4AXNA—FT 4 2—2—8] %%
20184 48 LMEE [KBRY T4 7 & 774 XNEFIEH] & [ARY T4 0T R 754 LNEPIRE] ICLHEE
20184 4R LIREE [77AZNA=FT 4 32—2—8] % [TI3AXUATAA 0TV ERL IR ICEIREE
20194 3R RIE [TFAZNATAA T R LR BEERREFPIRRICATE
20204 3A FIE (VT 4077+ —8] BERBREPIREICRTE
20234 48 LMEE (KR =74 7Ty P74 ZNERIRK] % [KRY =74 5 & 754 £LEPIRH] (CRITEE
20235 48 HIREE [7T5AZNATAATYRRLAR] % [T5A4AZNAT A7 &L AR ICZTEE




